
CONNECTION OF:
FRAMEWORK ANGLE TO 2" CHANNEL 
FRAMING (ADJUSTABLE)

CONNECTION OF:
SUPPORT PIPE TO 2" CHANNEL 
FRAMING (ADJUSTABLE)
(FUTURE FRAME LOCATION)

SFH-913(1)

SFC-2(4)

5/8 HEX NUT(6)

R2-207(1)
SHIM AS NEEDED

SFH-620(1) 1.75" TO 8"

1.75" TO 8"

FRAME(REF)

SFH-913(1)

SFC-2(4)

5/8 HEX NUT(6)

R2-207(1)
SHIM AS NEEDED

SFH-620(1)

SFH-615 FILLER(1)

Moreng Telecom Products
973-237-2001
www.morengtel.com

NO        SFH-913K 

 LOCK WASHERS        PART # 

YES        SFH-913KE 

5/8 ET LOCK WASHER(6)
SEE TABLE FOR OPTIONS

NO        SFH-913KB 

 LOCK WASHERS        PART # 

YES        SFH-913KBE 

5/8 ET LOCK WASHER(6)
SEE TABLE FOR OPTIONS

http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf
http://www.morengtel.com/images/product/pdf/BasicHardware/Basic_Hardware_09-4-01%20SFC2.pdf

